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Ol &k Xb== 0 =0l &t
AFE ¢ SEMECHEE IS
OIPNF=ENE-—F} cHe & )
= & A = X E A -

s = =g A HE =)o 5 & g = NENH HEA X =N g &
= Al 65,788,453 0 65,788,453 | & Al 65,788,453 0 65,788,453
& = =2 22,000,000 0 22,000,000 |l & &t & Ab & HI 0 0
2 S =2 0 0 ol A & A & i 0 0 0
Xt e = 0 0 o)l & 2 <& i 0 0 0
I T 0 0 ol =2 =3 oW 0 0 0
o &3 &= 3 =+ 0 0 0l & = 0 0
o x = 3 = 37,507,336 0 37,507,336 | O Xl = 65,710,055 0 65,710,055
Oll = =l 5,991,117 0 591, 117|334 0 0 0
0l At o= 2 290,000 0 290,000 |0l == & cl = & & 78,398 0 78,398
| Et = 0 0 vl Et Xl = 0 0 0
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216 Ol At==¢ 290,000 0 290,000
216-01 =30 =0l A= 290,000 0 290,000
290,000
120,000,000& = 120,000
170,000,000& = 170,000
700 28 +LSHUHEAN 65,498,453 0 65,498,453
710 282 S 37,507,336 0 37,507,336
714 Ol Xl = 2 == 37,507,336 0 37,507,336
714-01 Ol Xl 37,507,336 0 37,507,336
37,507,336
13,755,376,000& = 13,755,376
23,751,960,000& = 23,751,960
720 LH =1 cH 27,991,117 27,991,117
721 U= 22,000,000 22,000,000
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722 WE =202 5,991,117 5,991,117
722-01 Ol=3=+¢< 5,991,117 5,991,117
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O=ZQUFEAY SEIA 730,000,000& = 730,000

OHJISHMEIAEALIEIEE 2 A 6,453,000& = 6,453
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= 2 g A 65,788,453 65,788,453




SIAHHE 20224
Ol & Xb= 0 200l &
IA-E - SEMEAFEII=S

@ A=A CER-E)
AN .22 . H3 .09 - NSAY - HES X & o AT 5 o HDS2

JI &0l AHEHE 2 65,788,453 0 65,788,453
M -2 65,788,453 0 65,788,453
MRS (OI2oaeea) 65,788,453 0 65,788,453
HEHUHXN S (SEMEHEZ I S) 78,398 0 78,398
LHEHAX E(SEAHH) 78,398 0 78,398
705 tl=~=2R =4 & 78,398 0 78,398
02 0l==2 0| kt& 2t 78,398 78,398 0 78,398

ol =30l A+ A& 78,398

O=0UFEANY SLIH 40,991,000& = 40,991

OHIIS XA EALINEISE S A 6,453,000 = 6,453

OXlot=SE 3 A 954,000 = 954

oO&&I3 30,000,000& = 30,000
BEXNES(SESMECHAES D) 65,710,055 0 65,710,055
SEXE(SEAHEH) 19,788,095 0 19,788,095
602 Ol Xl = 19,788,095 0 19,788,095
01 BtHlXI= 19,788,095 19,788,095 0 19,788,095

w20 X2 19,788,095,000& = 19,788,095
SBEXNE(HEHEFAHE) 45,921,960 0 45,921,960
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A== W@ |®uz | ex2 | gz |B%EE4 | gao Ol Xt JIEt 3N ® HSXy | 8AE |axsay | HYSV (W22 | JIE | (@-0)
cES | &S =SS | (oxzEs) R PN 29 AFIHL | AFRIH| | % =3 |23 ae | ESdE =

20164 kXl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20179 & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2018 &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2019¢9 & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20204 &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20219 & 61,244,855 | 47,329,479 0 0 0| 18,710,376 205,000 0| 23,737,519 0 0 0 0 0| 23,737,519 | 37,507,336
20223 & 28,281,117 | 22,000,000 0 0 015,991,117 290,000 0 78,398 0 0 0 0 78,398 028,202,719
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Ol &b Xb== 0 = Ol &F
A= - SEMEHEE IS
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2020 = 2 & TH A 2021 = UBETHH@ 20229 = USHTHHD S2(®-®@)
Al 0 37,507,336 65,710,055 28,202,719
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